MODEL

& NEW PARTS COMPLETE

BRAKE CABLE SET Model 3.5+

35-M01-ASS
A3 IS
A4 AT

+
21

20

e

o+
PX) EXTRA LARGE STORAGE NET

U

18

17

16

10

15 (TOP / BOTTOM)

14 06-C08-VELCO-002

13

FRICTION BRAKE SET Model 3.5+

CABLE NUT ASSEMBLY Model 3.5+

BRAKE CABLE Model 3.5+

EXTRA LARGE STORAGE NET

[

UMBRELLA CLIP PLUS COMPLETE
09-P0O3-ASS

CUP HOLDER PLUS
P35-62B-HCPPXX

M6 NYLOCK ANCHOR NUT

M35-25X-NPCXXX

CABLE ADJUST NUT AND BOLT

Model 3.5+
06-M06-FW02

09-CO01

PPER

BAG STRAP TABS
06-C04-BGPTB

06-M45-M6x8NL
+ \

BRAKE CABLE SHEATH
Model 3.5+
M35-26X-NPCXXX

V1.0

BAG STRAP HOOK SIDE COMPLETE
35-P03-ASS

BAG STRAP RING SIDE COMPLETE
35-P04-ASS

3.5+ UPGRADE KIT
A10 35-P05-ASS

(KIT INCLUDES EVERYTHING MARKED WITH A ' o SYMBOL)

BRAKE GEAR
06-P30-T003-01

BRAKE SPRING
22mmX14.5mm
06-M52-C001-02-SP

BRAKE HAMMER PLUS
06-P31-C091-00

M6 x 33.5 BOLT
06-M58-M6X33.5PM

CABLE NUT ASSEMBLY
Model 3.5+
06-M06-ASS

BAG STRING CLIP RING SIDE

A7 CUP HOLDER PLUS
P35-62B-HCPPXX

-+
JXs) UMBRELLA CLIP PLUS

COMPLETE
09-P03-ASS

UMBRELLA CLIP PLUS
09-P0O3

LOWER

7 BAG STRING

P35-60B-SCXXXX

BAG STRAP UPPER
06-P20-C028-03

CLIP HOOK SIDE
P35-61B-SCXXXX

BOLT M6X48

BOLT M6X48

06-M24-M6X48PM

NYLOCK NUT M6X6

06-M24-M6X48PM

BAG STRAP UPPER

06-M44-M6X6NL

RIGHT BAG SADDLE ARM

06-P20-C028-03

NYLOCK NUT M6X6
10

06-P16-C049-02

UMBRELLA VELCO

06-M44-M6X6NL

LEFT BAG SADDLE

o ARM (TOP / BOTTOM)
06-P17-C049-03

m UMBRELLA TAB
06-C07-BGPTB-002

SCREW ST4X18PT
13

06-M41-ST4X18PT



